Inferences (Part II)
The lead of a deuce can be most revealing:
North



♠ T 9 3


South plays in 3NT and West leads the ♠ 2, presumably from a 4 card suit.



♥ 6 5 3


South ducks twice and wins the third spade. South now plays the Ace and 



♦ Q T 5 4

King of Hearts, as West discards a club on the 2nd spade. What should South



♣ Q J 3 

infer about this hand?



South


West has led from a 4 card suit and has turned up with a singleton heart. This


♠ A 7 4

means that he has 8 minor suit cards. Most likely, West holds 4 cards in each


♥ A K Q T

minor, or else he may have chosen to lead one. Thus, South plays the ♦A, ♦K,


♦ A K 6

and finesses the ♦10 to get to dummy to take the marked heart finesse. Other 


♣ 9 8 7


plays risk losing 3 spades and 2 clubs before collecting 9 tricks. 
Trump leads carry inferences as well. It is dangerous to lead trumps if there is a possible long suit coming down on the table, so the inference is that the opening leader has that suit under control. For example:

South
    North

  1S
      2C

If West leads a trump against this contract, it’s a good bet he has good clubs and is

  2S
      4S

not afraid that declarer is going to use that suit for discards. 

South
    North

  1S
      1NT
A trump lead against this contract is indicative of a strong spade holding. 


  2H
       4H


Short suit leads also carry inferences. Normally, when a player has 4 trumps, he does not try for a ruff, but prefers to play a forcing game by leading his longest suit. Thus, if a short suit is led, the inference is that the trumps are not breaking badly, but the most pressing danger is defensive ruffs. This is especially true in doubled contracts, when one fears catastrophic trump divisions. 

Another inference that can be drawn is that when your weakest suit is not led, the opening leader must have an unattractive holding in that suit. For example if West has bid clubs and is on lead, and your combined holding is:

North

♣ xxx 

If West leads anything other than a club, it’s a near certainty that West has the Ace-Queen,



and East has the King, probably K-x. The assumption is, when you are missing the AKQ of

South

a suit, and it is not led, that the opening leader has neither the AK, nor the KQ. If the

♣ Jxx

stronger bidding was on your left, you can bet the A and K are split between the two hands.
The stronger the defenders (the more logical they play), the more inferences declarer can make. Consider this:

North



♠ J T 3


South
    North







♥ 6  


  1S
      2S



♦ 9 7 5 4

  3S
      4S



♣ A Q T 8 7
Dummy comes down with undisclosed strength in clubs. West leads the ♥ Q to East’s Ace, and East returns a trump rather than a diamond. The presumption should be that East must be strong in clubs, or else he could not have risked declarer discarding all his diamond losers on the clubs.
Another valuable inference is that when a defender has a side suit singleton against a suit contract that he will lead it. Therefore, if you are faced with this combination of cards in an unbid suit:


♦ A Q 9 4
Suppose hearts are trump and you have this diamond holding. If anyone is likely to have a 




singleton diamond, it is East, because West did not lead a diamond. Thus, you should lead 


♦ K T 3 2
the Ace and then low to King to guard against ♦ Jxxx in the West hand.

A fairly well known inference is that most players will not underlead aces against suit contracts, particularly when the stronger of the two hands is the declarer. If you are declarer in a heart contract and a low spade is led:

♠ K 4

It’s going to work out overwhelmingly better to play low from the dummy, since the ♠ A is




probably with East. This inference is not quite as strong if the dummy has bid no trump and 


♠ J T 5

the King is more or less marked there, or if dummy is known to be the strong hand.

Declarer should also make distributional inferences from what the defenders have and have not bid. For example, if one defender has bid a suit and the other has supported it – and between your hand and dummy you have a total of 6 cards in that suit – you should assume that the original bidder has four and the raiser had three. Similarly, if there is an overcall and a raise, and you have 5 cards total in that suit, you should assume that the overcaller has 5 and his partner has 3.

One other common situation: If the opponents are in the bidding and do not mention a major that (after you become declarer) notice you have only 5 total cards in the suit, you should assume that this suit probably breaks 

4-4. The reason is that if either opponent had five of the major, he likely would have mentioned the suit. 

North



♠ K 5 3

West leads the Ace-King of Diamonds. East discards a small spade on the




♥ 6 5 3


second diamond. A third diamond is led. You put in the Ten, and East ruffs



♦ Q T 5 4

and returns the Queen of Hearts. What now? How do you play the clubs?



♣ K 9 7 








You know West started with five diamonds, because East had only one. 



South


Furthermore, you can assume that East started with 4 hearts (he bid them)


♠ A 4


and West raised with 3. (You have six total). (They must not be playing 


♥ A 8 2

Support Doubles).  Spades figure to be 4-4 since both defenders would have


♦ 8 6 2

 
mentioned that suit first if they had held five. West, therefore, started with 


♣ A J T 8 3

four spades, three hearts, five diamonds, and a singleton club. 
South West    North    East 

Declarer should rise with the Ace of Hearts, lead a club to the King and 
(You)   1D       Pass
  1H 

run the Nine of Clubs. Declarer can pull trumps, and park one of his heart 
 2C
2H
3C   All Pass

losers on the good Queen of Diamonds in dummy.
The manner in which the defenders handle their strength is also indicative of their holding in a suit. For example, consider this typical suit combination in a no trump contract: 

North




♠ 8 7 4



If the ♠ Q is led and East signals, the presumption is that East started with





♠ Kxx; but if East overtakes the Queen with the King, then the inference is 

South



that East is unblocking from ♠ Kx. This can be very important, especially 

♠ A 5 2


to duplicate players.
Consider the following deal:

North


West leads the ♠ Q and East plays the ♠ K. Naturally, you duck. East returns 


♠ 8 5 3


the ♠ 6. Plan the play. 



♥ K Q 6






♦ A T 9 5 4

At Matchpoint scoring, you should assume that East started with exactly 


♣ K 7 


♠ K-6 doubleton and win the second round. Now, if the diamond finesse 





loses, East will have no more spades and you will make 11 tricks. If you


South


duck a second round of spades you will find yourself losing 2 spades and 


♠ A 7 2

a diamond, making only 10 tricks. Note that an overtrick – inconsequential to


♥ A 8 2

the imp or rubber bridge player – is a matter of life or death to the tournament


♦ Q J 6 2

player.  In addition, note that the imp player does not jeopardize his contract


♣ A Q 5

by winning the 2nd spade. If East has a third spade to return, the suit was not





Breaking any worse than 4-3, and the most the defenders could get would be
South West    North    East 

three spades and a diamond. 
 1NT   Pass
 3NT 
All Pass
Looking at the last example, the thought arises that it would be a good play for East to play the King on the Queen from Kxx to make declarer think that East had a doubleton, and only hold up one round instead of two. While this may work occasionally on the hands where YOU next gain the lead, it risks sending the wrong signal to partner if he wins a trick before you do. Also, it may blow a trick if partner has only led from QJxx. 

Digressing for a moment from inferences to look at how differently you play a hand at matchpoints than at IMPs: 
North


If South is playing 3NT in a tournament (matchpoints) and a spade is led, he should 

♠ 5 3


not hold up for even one round! Whenever a contract depends on a finesse, and that


♥ A J T 9

finesse is going into the opening leader’s hand (the danger hand), it does not pay to 


♦ Q J 4


hold up at all! Furthermore, if the diamond finesse works, South makes all 13 tricks


♣ A 7 5 4 

and the hold up play will cost several matchpoints. 


South


Contrast this to how the hand should be played at IMPs or Rubber Bridge. Not only


♠ A 7 2

should South hold up twice, but the diamond finesse should not even be attempted. 


♥ K Q


South should lay down the ♦ A (in case West has the singleton ♦K with 5 spades). 


♦ A T 9 8 5 2

If Spades are 4-4, nothing can defeat the contract.  The safest way to play a hand is  

♣ K 6


usually incorrect at Matchpoint scoring. 
One final No Trump inference: Whenever a defender has an established suit and subsequently begins to discard that suit, it is a sure sign that the defender has no certain entry. Therefore, if you are the declarer, and are missing the Ace and Queen of another suit, you can bet your last cent that the defender who is discarding his established suit is protecting the Queen and does not hold any Ace. Along this same vein, it is much easier to discard from a suit where one holds the Ace than the Queen. Therefore, when missing the Ace and Queen of a particular suit, and one defender seems to have no trouble with his discards in that suit, it rates to be because he holds the Ace. 

In conclusion, let it be noted that expert players are experts for a reason. They are able to make more and better inferences. As suits are being bid and played around the table, you too should be on the alert to be making the types of inferences that I have been discussing. Always assume that declarer and partner are playing logically. If one of them isn’t, don’t lose any sleep over making the wrong inference that causes you to discard the wrong suit, or make the wrong play. If it was declarer, chances are, you are only giving back something that was never yours to begin with. If it was partner, he’ll hopefully know better next time. After all, if partner’s play turns out to be correct – you don’t want to be the one second guessing.













































